~ GRADE 9 -UNIT B REVIEW

The more _energy that partze}es have
'A the faster. they move

}"Wer they move. .
the hlghef the mass of the object

_oms contam protons i
' ens;ty is a property of Inatter '

toms are negatwely charged
B: _Iljaioms are 1dent1cal to all other atoms.

AII atoms are composed of a combination of subatomic particles.
atoms conduct electncny

Whmh best descnbes the nuc}eus‘?

" :ntams protons and electrons; electrically neutral
B. ontams-protons and electrons positively charged
S protons and neutrons positively charged
ontains. neutrons and electrons negatively charged

Wlnch'be_st escnbes an atom?
Iectncally neutrai

: ___Wely charged

C negatlveiy chaxged _

] osmvel" or negatxvely charged



8. Approximately how many elements have been &scovered'?'- o e
A. three '
B. 35

9. Name two metals that are not silver coloured.
A. sulphur and chlorine -
B. copper and gold
C. copper and chlorme
D. sulphur and gold

10 ‘Which of the followingisa metallmd?
. sodium

sulphur

silicon

. strontium

'ucwa

11. What is a period in the Periodic Table?

. avertical column

. & hortzontal row

. a family of elements with similar properties
. a group of elements all of which have the same mumber of valence electcons

oW

12. What do the noble gases He and Kr have in common? = '
A. The same mumber of electrons o
B. The same number of valence electrons
C. Filled valence energy levels
D. Both gases will make a balloon tend to float.

13. How is the periodic table arranged?
A. by atomic mass and chemical properties
B. by ion charge and atomic mass
C. by ion charge and atomic number -

D. by atomic number and chemical propertie

14. Which family of elements contains a solid, a Tiquid, and a gas at mom temperature‘?.
. Group 1 i Do
. Group 2
. Group 17
. Group 18

S aws T

Which phrase is correct for a Bohr model of a metal Ion‘? O
. more protons than electrons
. more electrons than protons
. equal numbers of protons and electrons
. equal number of neutrons and protons

JOowe



h best descnbeb the a]ka]me earth metal family?
_ _amﬂy of metals that is magnetxc

B. -family of metals used to make coins

he'most reachve family of metals

Iy"-whose elements havc two valence electrons

Whig] best_ descnbes an element?




22. Which terms correctly describe CH;COO™? o

I 10n

1. multivalent
[ll. | polyatomic
V. | compound
A lTand 1

B. Hland IV
C.Hand IV

D. 1 and HI

23. What is the name of the metal ion in Fe,S37?
A irom
B. wron(Il)
C. ron(II)
D. sulphide

24. What is the name of Na,CO5?
A. sodium carbonate
B. sodium carbon oxide
C. sodium carbide
D. sodium carbon oxygen

25. What is the name of PbS,?
A. lead suiphide
B. lead(Il)y sulphide
C. lead(IV) sulphide
D. lead(ll) sulphate

26. How many atoms in total are represented by the formula (NH4)3P04
A ll
B. 13
C. 17
D. 20

27. An explosive device is used to blast rock for the constructlon of a new hlghway ‘Which set of
terms describes the explosive device? RRCTRO o
A. physical change and endothermic
B. physical change and exothermic
C. chemical change and endothermic
D. chemical change and exothermic



term(s escnbe the fonnahon of a solid from either a liquid or a gas?

"ﬁ"'deposmon 2
condensation -
f:sohdlﬁcatlon S

éutrbns and protons

_-.e'foﬂo\mng isa covalent compound‘?



35. How many atoms in total are represented by the formula Fe(CH3COO)3
A. 6 RIS AL
B. 9
C. 11
D. 22

36. One bad apple in a barrel causes the whole bunch to turn rotten, causmg them to tinn
brown, get warmer, and become mushy. Which kinds of change(s) are mvc-}ved‘?
physical change only that s exothermic L
chemical change only that is endethermic
chemical change and physical change that is exothermic _
chemical change and phystcal change that is endothermic -

SR

37.(a) Dalton’s atomic theory says that all matter is made of small partlcles cailed atoms..
Use Dalton’s theory to explain why a piece of copper cannot be tumed mto piec
gold. S

(b} Rutherford’s model of the atom resuited from an expenment in Wlnch .alpha part;c -

made to pass through a thin gold sheet. Most alpha particles passed stra]ght
through, but some were deflected. Explain what Rutherford Was able to conclude ﬁ'om_th

about the composition of atoms.

(¢) Bohr studied the results of experiments on the light re]eased by gaseous samples of atoms,.
such as those of hydrogen. What was he able to conchude from ﬂns about the way Iec if ns

exist in atoms?

38. (a) Whereis 99.99% of the mass in an atom tocated?
(b} Which particles in an atom occupy 99.99% of the volue of the atd_ﬁi_‘? G

(¢) Where is all of the pesitive charge in an atom located? -



| Llst any four types of mformation usually recorded on a periodic table in addltu}n to the

10 crm is: atomlc number is 20.
(a) Draw a sunpie Bohr dlagram showing the number of electrons in each energy level of a
calcmm atom :

ax a!c;um ion, C

3-.(b) Draw a snnple Bohr dlaglam showing the number of electrons in each energy level of

urpfoper{]es of alkali metal elements that distinguish them (make them different) from

: __t":i.*'.’f:'éfﬁa]:éil(;éel'eétron?
(b) How are valence clectrons related to chemical families?

¢) Donon—metais 1e_h_d_‘t0_ gain electrons or lose electrons as they form ions?

_nsxder ‘fhe polyatomlc on PO4 .
a)._f How i is PO43 5 like a molecule?



(b) Howis PO,* like an ion?

44, Write the formula:
(a) magnesium nitride
(b) nickel(F1} fluoride
(c) ammonium sulphate

45, 'Wnte the name:
(a) StsP2
(b) V05
(©) Cs,Cr0r .

46. Using kinetic molecular theory, explain how a solid can turn into a'l"iqui_d-,_ ; 5 .

47. Draw a simple sketch of an atom containing 5 protons, 6 peutrons; andasmanye}ectmns a
are needed to make the atom neutral. Show the correct number of electrons in edch encrgy
level. S S

48. Skeich a Bohr model diagram indicating the mumber of protons as well as'"t1§e3- number and
arrangement of electrons in each: T TR e
(a) Ca

(b) A13+

{cy CI



9. Usea penodlc tab]e to 1deni1fy these elements.
the metal in penod 5, group 11
: e_element with atomic mass 16.0 amu
c)‘ the meta]loxd in ‘rhc second period
)-fh" metalin penod 4 with three common ion charges

i) '_ber Iess than selemum

tsix chemlca] Ql_? physma] prop_erties typical of alkal metal elements.

Wnte namesfor the follomng compounds.

pper(I)lzphospInde

{c potasszum carbonate . '
alummum hydrox;de .
ruthemum(]V} sulp]nte a

a) Explamthedxfference b_éiwe_en a physical change and a chemical change.

e anexamp}e of each _ty_pe.of change.

é)- the h'alogen ‘whose atoms are heavier than sulphur’s atoms and which has an atomic



